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have been treated as Old Course students
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for the questions.

PART-A (F -9%)
For New Course

Q. No. 1 carries 1 mark each (any four)........eeweriveseune. 1x4 =

Q. No. 2 carries 2 marks eaclt (any five) ......wcusersesnnse 2x5=10

Q. No. 3 carries 3 marks eaclt (AnY H00) ....cveurerrerisssssusnenss 3x2 =

Q. No. 4 carries 6 marks eacl (any R00).......cowwvveeviseseraee 6x2 =12

Q. No. 5 carries 8 marks eacl (ANY 0NE) .....vvvveesivvssssrsnsnss 8x1=
Total = 40

PART-B (¥ - 5ig) ;

For New Course

Q. No. 6 carries 1 mark each (Any four) ..o ceeeesesssssssssins 1x4 =
Q. No. 7 carries 2 marks eacl (Any five) ...covueeissrssssinuanns 2x5 =10
Q. No. 8 carries 3 marks eaclt (ANY 100) .uveurunrensrercssesesens 3x2=
Q. No. 9 carries 6 marks each (ANY H00) .cvvvicvsrirerssasisesnnens 6x2 =12
Q. No. 10 carries 8 marks eaclt (Any ONE) ...ccvvurerurerissseness 8x1 =

PART-C (5 - =itd)
For Old Course (in lieu of Project Works)
0. No. 11 carries 5 marks each (any four) ..., S5x4 =20

Contd.
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Answer any four of the following questions :

PART-A /| 3-G%™
1x4=4

mﬁmmﬁmwwﬁm Twq il s

4

(vi)

What is intermediate good ?

| 5 3@ & ey

If MPS =1, what is the value of MPC?
I MPS=1 0, MPC3 W f&m z'a?

Primary Deficit = Fiscal Deficit - : (Fill in the blank)
i b =@ e - | (37T 3% 7979 F1)

Which one of the following is not a quantitative credit control
measure of the central bank?

TR (P00 (I (R5TA ARTRIGS 29 fragd 2%fs Tza2
(a) Bank rate
RF N[
(b) Open market operation
(el ITR &
(c) Variable reserve ratio
offqasTile AAfFe e SRS
E}/ Direct control
ooy R
Write one merit of flexible exchange rate.
AfRadeTie [ 2R by FRa @A

What is GDP deflator ?
GDP =53 &2

Answer any five of the following questions : 2x5=10
O AR e Ao Te e

%
(i7)

(iii)

(i)

Differentiate between capital expenditure and revenue expendlture
TGl I WEF AT IR AR AL

What are the components of high-powered money ?
THFTSIT JWH TAMTR [ 52
What are the transactions that are included in the capital accounf

of balance of payments ?
ﬂﬁm«w?{ﬁﬁm—ﬁsﬁsﬁmw‘@rﬁm?

Define personal income and personal disposable income.
e wE 9% Jfeste ey wma i@

34T ECON [2]



(v)

(vi)

(vii)

At L PR

As a result of increase in investment by Rs. 125 crores, national
income incrcases by 500 crores. Calculate the value of the
multiplier.

fRfFs 125 @1 ba1 3fea e @i om 500 @ Bat 9% 2311 @ T
fRefa ==

Distinguish between stock and flow.

THO WE AR AEA A el |

Write any two implications of revenue deficit.

G QR e 7oy oo e

Answer any two of the following questions : . 3x2=6

were Ml SRR Rt ghie ©ea fral

U

(1)

(iii)

17

Write any three limitations of barter system.

i | Ry o5 wPikat Srad 1|

What is balance of payments deficit ? Write two causes of balance
of payments deficit.

AfReI4R e w1 B2 sAfReie TTor b 77 IRq Ted 340

Write a short note on :
Autonomous and Induced Investment.

5% Gral faa
JoF WiF Wiers [

What is a government budget? What are the components of
government budget ?

5IFIR) ST 2 5K A ToAMITIE [ 2

Answer any two of the following : 6x2=12
Ol TIZA [Tl Kb ©ed Al 8

(1)

Discuss the motives of demand for money ? What is liquidity trap ?

5+1=6
WWWWWIWW%?

Briefly discuss the income method of calculating national income.
From the following data calculate Gross National Product at market
price (GNPpyp). 4+2=6

WWﬁWWWWWWW|WGWWW

IS Y TSI TeoiwA sl 71|
(in Rupees crore)

(% Sare)
(i) Mixed income of self-employed 400

FRie sear e

34T ECON (3] Centd..



(in Rupees crore)

(1T TrT)
(i) Compensation of employces 500
i i wovpae
(iii) Net factor income from abroad (-20)
Roe #iat @t fst o
(iv) Net Indirect Taxes (@b °Itar® F) 100
(v) Consumption of fixed capital 120
R EeR Boiren
(vi) Profits (&) 350
(vi) Rent  (3AfEm) 100
(viii) Interest (3%) 150

(ijf/’ Discuss the functions of commercial bank.
& @R IR S 31|

(iv) Define aggregate demand and aggregate supply. Complete the
following table and determine the equilibrium level of income :

2+4=6

A ofE o e @i e G oo i offmra o @R

SR % fAda 41 3

Aggregate Consumption Savings Investment Aggregate
Supply Demand
Afé st ottt AT ffatet AidE sifdm
(AS) () (S) (I) (AD)
900 780 40
800 700 . 40
700 620 40
600 540 40
S00 460 40
400 380 40
300 300 40
200 220 40
100 140 40

S. Answer any one of the following : ‘ 8x1=8
OO ORI e «brg ©ed fam ¢

(i) What is fiscal policy ? Discuss the impact of changes in government
expenditure and changes in taxes on equilibrium income.
2+3+3=8

ISR NS 7 S W G2IS 53 YT ARG W% 399 o{fRqsaq
SR LA 34 |

34T ECON : - [4]
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(ii)

-

Explain the determination of exchange rate under flexible exchange

_ rate system.

7z ARadT e RRim g4 Iegs [inm 2 [dad ok a4
(i) Write short notes on : 4+4=8
53 O f
(a) Demonetisation
Regaresd
(b) Fiscal Responsibility and Budget Management Act, 2003
AR 7RG TF wiw et “AfReEm wizd, 2003
PART-B / 4-9¢
Answer any four of the following questions : 1x4=4
o) SRIR Rz sifabre B fat e
() What is underdeveloped economy ?
e WIS Ifew R e
@ In which year World Trade Organisation (WTO) was formed ?
R afdey Aigg (WTO) @R oe stéa (=fea 2
(iii) Write the full form of SHG.
©  SHGAI W el ol
‘(iu) Write one objective of NITI Aayog.

o

(vi)

NITI SR g5 Sy ferdil |

Golden revolution was related to —
(a) fish production

(b) horticulture production

(¢) milk production

(d) agriculture production

AR Rer wfite wifd —

(@) T TeAWR TS

(b) T BeAWEd O

(c) ¥% T LS .
(d) T Teomaa TS (5% Rew Rora 1)
Define privatisation.

FfGarosam Al @

(Choose the correct option)

Answer any five of the following questions : 2x5=10
CoR SR et “febry ©ed i ¢

)

Mention two non-institutional sources of rural credit.

A AR B AR Bed SrEd T

34T ECON [5] Centd.
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(90 Write two long-term goals of Five Year Plans of India.
Taea swalfifa «fFawar 5oy dfarn @ @&

(iii) Mention two types of unemployment prevalent in the agriculture
sector of India.

TEd FEeT dbfae 72 owaa freal e S )
(i) What is the importancc of green revolution in the Indian
agriculture ?

TREA FAAST OET e oFy fe
(¢f" Write two positive effects of LPG policies in the Indian economy.
TRE wdiifes LPG «ifea gb wrye aem 74
(y/ Write two merits of globalisation.
(TFER=R 701 FfRd TEe 74|
(vii) Mention two objectives of disinvestment.
FiRistneR 751 T T 31
8. Answer any two of the following questions : 3x2=6
T MR [l §hi $ea fwdl s
(i) Write a note on Industrial Policy Resolution, 1956.
vV Tl e e, 1956 7 @ aft G &

(i) Briefly discuss any one serious environmental problem India is
facing at present time.

Hﬁﬁﬂﬂﬂ‘“ﬁ?ﬂﬂﬁm@mﬁﬁfﬂmﬁﬁ@%wm
BICE Al 33 |

(i) Discuss the composition of India’s foreign trade on the eve of
independence.

ZIETC[ AFIZE0 ST (AR Ve sona R S <541 |

(1 Explain the role and importance of education in human capital
formation.

TR TG TS PR TR Wi oy 3 4|

;( Answer any two of the following questions : 6x2=12
TEA A et gorq ©el ¢

(i)  Write a comparative note for India, China and Pakistan on the basis

of
(a) Demographic indicators
(bp) Human development indicators .

(a) TAISS Al @
(b) A TaweR foiETza fofes ere, 1 o #IFEra Ot gemmes
(OTF 2T 1|

34T ECON 6
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10.

11.

K\

(i) Briefly discuss the challenges India is facing in the context of
employment.
RER (@F0s SRS FIAR (21l SHPIPHE 590 NAlG 3] |

f?b What is economic reform ? Explain the nced for economic reforms
in India. 1+5=6
SAET IHFR 72 SRS weliafes A amEmel 3 |

(iv) Outline the common developmental successes and failures of India

and Pakistan. : 3+3=6
TR U AT Srazenl vl WiE Rerer fam
Answer any one of the following : 8x1=8

O Rt @bt e e ¢

(i) ~What do you understand by agriculture marketing system ?

/ Discuss government measures to improve agriculture marketing
system in India. 2+6=8
IR TR 97 I & 3512 oesde IR TER 97 e FRAA 471 F
5! PMCTIPTZ. S0 4 |

(i) Analyse the concept of sustainable development. Also discuss the

strategies for sustainable development. _ 4+4=8
IZFN OFANE YRG! Reagd 39| FNCO ITTH T (FHEPTIR. SISl
41 o

PART-C / a9t %
( For Old Course Students in lieu of Project Works)
Answer any four of the following questions : 5x4=20
SR frernr sifavr e Teq fra ¢

(i) Write a critical note on public debt.
53191 ¥R Ay @b ANCETES G

(i) Discuss the sources of demand for foreign currency.
amie TR SRR Sepg SiEnal 34|

(i) Can GDP be used as an index of country’s welfare? Justify your
answer.

GDP 3 47 (73 IR 53071 IR IR “MRE 2 (O Ve Foies L
IO |

(iv) What is human capital ? Discuss the sources of human capital.
TR A4 2 TR ToAA 9077 SSTRZ WACEA ¥4 |

(v) Briefly write about India as a knowledge economy.

TR SR i eResde Raw v &

(vi) Discuss the circular flow of national income in a simple economy.

93 9e QLIS ST 5F W AT Al F4 |

x

~
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